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oM er e S
The Numbers
0 ZERO {ipo-ou
1 ONE ouav
2 TWO ToU
3 THREE OptL
4 FOUR dop
5 FIVE dap
6 SIX oL
7 SEVEN o€Bev
8 EIGHT E{k s
9 NINE vaw
10 TEN TEV

11 eleven WEBev
12 twelve TOUEAB
13 thirteen Oeptv
14 fourteen doptv
15 fifteen bidriv
16 sixteen oLtiv
17 seventeen oefevrtiv
18 eighteen entiv
19 nineteen vantiv
20 twenty TOUEVTL
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21 Twenty-one TouévtL ouav

30 Thirty OéptL

40 Forty ®DoptL

50 Fifty dipt

60 Sixty ot

70 Seventy ZéBevul

80 Eighty €ntL

90 Ninety Nattt

100 A/one hundred E /ouav xavtpevt
1.000 a/ one thousand E / ouav Bdoulevt

1.000.000 a/ one million €/ ouav pHiAAov
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1. Itnv endpevn doknon, TpaBREte pia ypoppn ano tnv Ka0e Aéén otnv
MEon, MPOG Tov aplOuo nou Bpioketal ota defLd koL ota aplotepa!
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. Write the number

Forty-seven =
Fifty- one =
Twenty- three =
Sixty- nine=
Seventy —eight=
Eighty-four=
Thirty-three=
Ninety-nine=
Eighty-one=
Sixteen=

One=

Five=

Ten=

3. Choose the correct answer

Twenty —two =12 22 32
Sixty-nine=96 69 39
Ninety-nine=19 29 99

Thirty- six=36 63 46
Seventy-two=62 72 27
Forty-seven-=47 74 57
Fifty-one=15 51 61

Eighty- three=83 23 38

A hundred= 100 1000 1000000



